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Class XI : Maths
Chapter 8 : Sequence And Series

Questions and Solutions | Exercise 8.1 - NCERT Books

Question 1:

= +
Write the first five terms of the sequences whose n™ term is A n{n 2}
Answer

a,=n(n+2)

Substitutingn = 1, 2, 3, 4, and 5, we obtain
a =1(1+2)=3

a,=2(2+2)=8

a;=3(3+2)=15

a,=4(4+2)=24

a,=5(5+2)=35

Therefore, the required terms are 3, 8, 15, 24, and 35.

Question 2:

n

a, =
Write the first five terms of the sequences whose n™ term is n+l

Answer

n
a, =

n+1

Substitutingn = 1, 2, 3, 4, 5, we obtain

1 1 2 2 3 3 B 4 5 5
g =——=—.d="—-""=-,4d = =—,d,=——=—,td;=——=—
I+1 2 2+1 3 3+1 4 4+1 5 541 6
1 2 3 4
- —, —, —,and —
Therefore, the required terms are 2 3 4 35

Question 3:

Write the first five terms of the sequences whose nt term is a, = 2"
Answer

a,=2"

Substituting n = 1, 2, 3, 4, 5, we obtain
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a=2'=2
a,=2"=4
a,=2"=8
a,=2"=16
a,=2"=32

Therefore, the required terms are 2, 4, 8, 16, and 32.

Question 4:

. _2n-3
Write the first five terms of the sequences whose n' term is " 6
Answer
Substituting n = 1, 2, 3, 4, 5, we obtain
2x1-3 -1
al = = —_—
3] 4]
2x2-3 1
ﬁ-_; = = —
B (3] i)
a = 2x3-3 3 1
’ 6 6 2
2x4-3 5
ﬂ_; - ==
(3] i)
~2x5-3 7
i 6 6
-1 1 1 5 7
—, —, —, —, and —
Therefore, the required terms are 6 6 2 6 6
Question 5:
a = (_]}n—] S"_I

Write the first five terms of the sequences whose n'" term is “"
Answer

Substituting n = 1, 2, 3, 4, 5, we obtain
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a, =(-1)"5"=5"=25
a,=(-1)"'5 =-5" =125
a,=(-1)"'5"" =5' =625
a,=(-1)""5" =—s* =-3125
a® =(~1)"'5"" =5° = 15625
Therefore, the required terms are 25, =125, 625, -3125, and 15625.
Question 6:
. n'+5
] 4

Write the first five terms of the sequences whose n' term is

Answer
Substituting n = 1, 2, 3, 4, 5, we obtain

_LF+5_§_§
L4 402
. 9 9
. =2_2 +5=2__=_
4 4 2
P 14 21
H;ZJ =3-—=—
4 4 2
al=4.4_+5=j]
4
a5 545 53075
' 4 4
E, E 2 21, and E
272 2 2

Therefore, the required terms are

Question 7:

Find the 17 term in the following sequence whose n' term is ®n ~ 4n-3ia,;,a,

Answer
Substituting n = 17, we obtain

a,=4(17)-3=68-3=65

Substituting n = 24, we obtain

Class X1 Maths www.esaral.com



https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
User
Rectangle


*‘e’Sa ra | JEE | NEET | CLASS 8 - 10 Download eSaral APP [

a,, =4(24)-3=96-3=93
Question 8:

Find the 7*" term in the following sequence whose n'" term is Zn
Answer

Substituting n = 7, we obtain

»

L4
T T s
Question 9:

n—=l 3
Find the 9" term in the following sequence whose n'" term is a, =(-1) n’a,

Answer

Substituting n = 9, we obtain

a, =(-1)""(9) =(9) =729

Question 10:
nin-2
I"j'n = { };HZII
Find the 20" term in the following sequence whose n*" term is n+3
Answer

Substituting n = 20, we obtain
3 2{][2{.‘1—2} ZU{IES} 360

2043 23 23

=1

Question 11:

Write the first five terms of the following sequence and obtain the corresponding series:
a, =3,a,=3a_, +2foralln=>1
Answer

a, =3,a,=3a_, +2foralln=>1
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a,=3a, +2=3(11)+2=35
a, =3a, +2=3(35)+2=107
a, =3a, +2=3(107)+2=323

Hence, the first five terms of the sequence are 3, 11, 35, 107, and 323.
The corresponding seriesis 3 + 11 + 35 + 107 + 323 + ...

Question 12:

Write the first five terms of the following sequence and obtain the corresponding series:

a, :-1,::”:&,4*: = 2
M
Answer
a=—la =-"1nz=2
M
a  —l
:}ﬂ_|:—:—
-2 2
a, -l
'I':'I*:T-:_
; 3 6
a, -1
aJ:—':—
4 24
a -1
ﬂ'i:—:—
4 120
-1 -1 -l -1
-1, —, —, —,and —
Hence, the first five terms of the sequence are 2 6 24 120

.I'_ .I'_ _ \‘I
{_]}+|T] + _I]_(T]J+[TI +..
The corresponding series is V26 24 120

Question 13:

Write the first five terms of the following sequence and obtain the corresponding series:

_ _ _ >
a=a,=2,a =a,_ ~ln>2
Answer

a=a,=2a =a_,—ln=2
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—a,=a,—1=2-1=1
a,=a,—1=1-1=0

Hence, the first five terms of the sequence are 2, 2, 1, 0, and -1.

The corresponding seriesis2 +2 + 1+ 0+ (-1) + ...

Question 14:
The Fibonacci sequence is defined by
l=a =a,anda =a_ +a_ ,.n>2
st forn=1,2,3,4,5
Find &
Answer
l=a =a,

|
a =a, ,+a ,,n>2
Say=a,+a =1+1=2
a,=a,+a,=2+1=3
a,=a,+a,=3+2=3

a,=a,+ta,=5+3=38

a+1 a, |1
SForn=l, ——=—=-=]
a, a, |
For n =2, E'l"Jrl=h=E=2
. a, |
F|:1rrn=?rﬂ“Jrl=a—4=1
a_ a, 2
Forn=4 a,+l_a, >
a a, 3
Forn=5 aﬁ_l:ﬁzﬁ
" oa a, 3
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